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PHILOSOPHY — GENERAL
Paper : SEC-A-1
(Logical Reasoning and Application : Indian and Western)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : ; 1x10
(a) The sannikarsa involved in the perception of the fragrance of a flower is
(i) samyoga (i) samyukta samavaya
(i) samavaya (iv) samaveta samavaya.

(b) “The Ganga incense stick is good as Ganga is a holy river”— is an example of which of the
following arguments?

(1) circular argument (i) argument from emotion

(i) argument from appeal to pity (iv) argument from accident.

(c) The fallacy involved in an argument in which the premises are not relevant to the conclusion is

(i) fallacy of relevance (i) fallacy of ambiguity
(iii) bad analogy (iv) none of these.
(d) The sannikarsa involved in the perception of sweetness of honey is
(i) samyukta samavaya (i) samyukta samaveta samavaya
(i) samavaya (iv) samaveta samavaya.

(e) “All knowable objects are fiery, hill is a knowable object, therefore hill is fiery”— the mentioned
argument is vitiated by the fallacy of

() badhita (i) viruddha

(i) savyabhicara . (iv) satpratipaksa.
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2. Answer in short (any five) :

(a)
(b)
(c)
(d)
(e)
®
(g
(h)

When the middle term, instead of proving the existence of the major
its non-existence, then that hetu is called

(i) badhita (i) viruddha
(iii) anaikantika (iv) asiddha.

The primary form of argument used in a legal process is
(i) inductive argument (i) deductive argument
(i) both form of arguments (iv) none of these.

«That which is not different from elements other than earth has no smell, earth has smell, therefore,
carth is different from elements other than earth”— the given argument 1S an example of

(i) kevalanvayi anumana (i) kevalavyatirek anumana

(i) anvayavyatireki anumana (iv) none of these.

The conclusion of an analogical argument is
(i) necessarily true (ii) probable
(iii) necessarily false (iv) none of these.

In the Law, the language which is commonly used, is
(1) informative (i) expressive
(i) directive (iv) emotive.
In a legal enquiry regarding whether the death of a patient is caused due to doctor’s negligence, it

was observed that the doctor has undertaken the line of treatment that is generally followed in case
of such disease. In the above case which form of argument is undertaken?

(i) Analogical argument (i) Deductive argument

(iii) Scientific inductive argument (iv) None of these.

The basis of unscientific explanation is
(i) blind faith and superstition (i) observation

(i) experiment (iv) none of these.

5%5
Distinguish, with example, between sapaksa and vipaksa.

Distinguish, with example, between good and bad analogy.

Analyse the concept of ‘paksata’.

Discuss the savyabhicara or anaikantika hetvabhasa with example.

Discuss the fallacy of equivocation with suitable example,

Discuss, with examples, the argument from emotion and argument from appeal to pi
pity.

Distinguish between scientific and unscientific explanations with e |
. ) Xa
Discuss the argument from ignorance with — mples.
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3. Answer any three questions :

(a).

(b)
(c)

(d)

(e)

How many types of sannikarsa are there according to Nyaya and what are they? Discuss the

different types of samnikarsa, with examples. 3+12

Discuss kevalanvayi, kevalavyatireki and anvayavyatireki anumana with suitable examples. 15

What is fallacy of relevance? Discuss any two forms of fallacy of relevance with suitable examples.
5+(5+5)

(i) What do you mean by remote cause and proximate cause? Explain with example. In a causal
chain legal responsibility falls on which type of cause? Discuss in brief.

(i) Distinguish between act of commission and act of omission with example.

What do you mean by fallacy of ambiguity? Discuss any two types of fallacy of ambiguity with
example. 5+(5+5)

(4+4y+T




